AfT 2 Mmm M,//zﬂﬂ i /uwf-/%//
= 3 3 ﬁ P2 Gy ra ) / = fr»wzz,[«./ /’M%‘(ﬂﬁ

Z? Z:ZE ?ﬂ'?a"‘_f# 'ij_'fﬂm# 7 77T

o 4 ‘””f (?f'-"-' warfiler? or hmud/(f.?*ﬂ‘;"ffﬁﬂﬁ(r.ﬂé
% "é‘d y Tl Sl G,

W_ﬁ:fé__ (7 Zpﬂm péa?fdrﬂ/f M‘?‘%jﬁfpﬂf—' >
37 L?V/ /’? . : -
—‘*"/3’ ) s Ty T T
L/'é?"?b"" Z{(—f H//nfe"mrféf/ o ﬂd‘?ﬁ?ﬁr‘:‘ -/)V :C/ 44?-*’3 w@ﬂ - / tecet
N Y V20 hvncrdor. -

T /f’/- -—4"&%&@ F’QW-Q/ /A}ﬂrf /ﬁfmtﬂ/u"’v

-372-,&"} /mfff 2100t ey 10l it el .
b’g{ffﬁ_umﬁ*wfﬂcﬂ_ﬁ /jér?"ﬁi___ﬂ?ﬁ?'?vhxm/‘_f - rxxz/f" ~ A8

| - 1 fil 5 :
: q.*'fi".'n 7 J(’ ‘-jf e ft'f" j vt 2 /:f f.;.v.a e

3 {(/4’/ /({) ﬂfw.fd(ﬂu’ﬁ\%’g/{/{’ffnjﬂﬁy ‘/::?{ L,)—
i-.z - ! = bt .:,-(7{ St :

;

,/?_;)_ﬂ/ﬂ,,_m,dffln -- ""u/f “"'*"{ f&/?f"? r/"'_‘.'i' ot a—/jf;#;
, :" 1‘.““/;‘ . ¢ H
r P ey




